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= 1,600,712 1,596,730 3,082

s 1,600,712 1,596,730 3,982
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OO0RI01F JIs22(FHIH)

23 4,000,000% 4,000 2,000 2,000

2 2,000 1,000 1,000

= 1,000 500 500

2 1,000 500 500

TTHORO0IE 2Y X2 58,800 65,116 £6,316

2 29,400 32,558 A3,158

= 14,700 6,279 A1,579

2 14,700 6,279 A1,579

307 £12+0| & 58,800 65,116 £6,316

2 29,400 32,558 A3,158

= 14,700 6,279 A1,579

2 14,700 6,279 A1,579

I CEEECTIEE: 58,800 65,116 26,316
TTHORO0IY 2Y K&

A 58,800,0009 58,800 65,116 £6,316
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2N

X{ XH -
S =

Akl = X1 ot

3% &2
|

=

&??: ogold 249 ¢ 2el (Sl & &)
SN FH-SA(EN) - MBAY - BES 0l &k o4 p/E-E" Hl DS 2

= 29,400 32,558 A 3,158

=) 14,700 16,279 A 1,579

= 14,700 16,279 21,579

OOl = (Ex])= 00 X 81,732 81,732 0

< 32,693 32,693 0

s 49,039 49,039 0

301 gt 4= 0 81,732 AB81,732

< 0 32,693 A 32,693

s 0 49,039 A 49,039

01 MI2EZE 06z 0 81,732 AB81,732
OO0l = (Ex)=<0/ KNI (AS3H)

28 03 0 81,732 NAB81,732

=) 0 32,693 A 32,693

s 0 49,039 A 49,039

307 glz2tol & 81,732 0 81,732

< 32,693 0 32,693

s 49,039 0 49,039

11T M SRASE EX 81,732 0 81,732
OO0l #H=E(ER)=20/ KNI (ASBH)

81,732,000 81,732 0 81,732

& 32,693 0 32,693

fia 49,039 0 49,039

JEHE FUSs R0 SSAMHA 39,029 0 39,029

= 15,568 0 15,568

< 4,779 0 4,779

s 18,682 0 18,682

307 gl2tol & 39,029 0 39,029

= 15,568 0 15,568

< 4,779 0 4,779

s 18,682 0 18,682

10 AL SXAIEEE2EH EX 39,029 0 39,029
OZASE HUSH YN0t SSAUIA

39,029,000 39,029 0 39,029

= 15,568 0 15,568

& 4,779 0 4,779

s 18,682 0 18,682

MEE S (A=K D) 147,815 0 147,815

BEXE(ALSI = Xl 1tH) 147,815 0 147,815

HdEZO0|NM BT ALY Bt g 147,815 0 147,815

802 Btet = DI Et 147,815 0 147,815

01 I DEXSHE= 104,687 0 104,687

02016 Ots=XAE JIsE2Z 3,694,300 3,695 0 3,695

o216 Lol=XA4 JlsE2 10,024,520 10,025 0 10,025

O2016E Lo=EXAA JsE2 (U2 H
X) 612,350& 613 0 613
020178 L LYZAE 2SS 700& 1 0 1
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SN AE=X D
HH: WRES(AMI=EX D)
¢el: EMXE(AESXL) (Sl & &)
SN SAGEA) - MRALY - BES 0l &t o 0% o Hl D&
020174 &tw % 44 XA 22,120& 23 0 23
020174 SIIIJFAFA I A A 9,680 10 0 10
020178 Lol=8JI2Md8lA AFY 937,340 938 0 938
Q201749 LA SSZTEMUIA(HIRH) AL
89,164,640 89,165 0 89, 165
020178 SNl SSLHHELEANHA 2
205,000& 205 0 205
020174 & g HAE XA (0IX) 11,800 12 0 12
02 Al - EHIEXZSEHEZ 43,128 0 43,128
02016 Ots=XAH JIsEZ 1,107,790 1,108 0 1,108
020179 DI JFAEA I A A 4,150& 5 0 5
020178 LolES8JI2MElA AFY 401,710 402 0 402
020178 L SSZTEMUIA(HIRHM)ALY
38,212,690& 38,213 0 38,213
020178 SEHLQ SSHHELE LA
205,000& 205 0 205
020178 Lo =XAE JIsE2 3,010,110 3,011 0 3,011
020174 L =SXAE JIsEB2(SHLIQYEAH
X) 183,710& 184 0 184




